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QUESTION 1

Which two statements are true concerning policy-based IPsec VPNs on an SRX Series device? (Choose two)
A. A new tunnel is set up for each flow of traffic that matches the policy.

B. One tunnel is set up for all flows of traffic that match the policy.

C. A new tunnel is set up before a flow of traffic matches the policy.

D. A new tunnel is set up only when a flow of traffic matches the policy.

Correct Answer: BD

QUESTION 2

How do you apply UTM enforcement to security policies on the branch SRX series?

A. UTM profiles are applied on a security policy by policy basis.

B. UTM profiles are applied at the global policy level.

C. Individual UTM features like anti-spam or anti-virus are applied directly on a security policy by policy basis.
D. Individual UTM features like anti-spam or anti-virus are applied directly at the global policy level.

Correct Answer: A

QUESTION 3

Which three actions should be used when initially implementing Junos Screen options? (Choose three.)
A. Deploy Junos Screen options only in functional zones.

B. Deploy Junos Screen options only in vulnerable security zones.

C. Understand the behavior of legitimate applications.

D. Use the limit-session option.

E. Use the alarm-without-drop option.

Correct Answer: BCE

QUESTION 4

Click the Exhibit button Referring to the exhibit, what is the expected behavior?
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[edit security utm]
ugerfhostf# show
cugtom—objects |
url-pattern |
allow-list |
value "nancy@juniper.netc™;
)

reject-list |
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value [ "nancyfjuniper.net”™ juniper.net

}
feature~-profile |
anti-spam |
addresg-whitelist sllow-list:

address-blacklist reject-list;

A. E-mail from juniper net will be blocked because juniper.net is on the blacklist.

B. E-mail from jumper net will be permitted because juniper net is listed second on the blacklist.

C. E-mail from nancy@juniper net will be permitted because nancy@juniper.net is on the whitelist.

D. E-mail from nancy@juniper.net will be blocked because nancy@juniper.net is on the blacklist.

Correct Answer: C

QUESTION 5

Click the Exhibit button.

-- Exhibit -[edit security policies from-zone HR to-zone trust]
user@host# show

policy two {

match {

source-address subnet_a,;
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destination-address host_b;
application [ junos-telnet junos-ping J;
}

then {

reject;

}

}

policy one {

match {

source-address host_a;
destination-address subnet_b;
application any;

}

then {

permit;

}

}

-- Exhibit -

host_a is in subnet_a and host_b is in subnet_b.
Given the configuration shown in the exhibit, which two statements are true about traffic from host_a to
host_b (Choose two.)?

A. DNS traffic is denied.

B. Telnet traffic is denied.

C. SMTP traffic is denied.

D. Ping traffic is denied.

Correct Answer: BD
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